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: KLY WORDS & DEFINITIONS : ,' \JNAT DO | NEED TO KNOW 3
I L
: | Velocify : I | The gradient on a displacement-time graph = velocity :
I The rate of change of displacement I : _ _ _ - :
I 2 Acceleration : p 21fa d|sp|o§emenT -fime graph is a siraight ine then |
: The rafe of change of velocify ¥ the veloaity is constant. :
\ /
L 7 : 3. The gradent on a velocify-fime graph = acceleration :
———————————————— - | I
// SU\I AT [QUATIONS \\\ : 4 1f a velocAiT q-T ime graph is a straight Ine then the :
| - - ! accelerafion is constant. I
| For mofion in a straight ine with constant ' [
1 acceleration: : 1 O The area between a velocity-fime graph and the :
: —u+at I : time axis = Distance fravelled :
| |
|| V= H2as s — displacement | | i 6 Average Speed = Total Distance Travelled :
: s = m‘—|—latz u — initial velocity | | : Tofal Time Taken :
I 2 v — final velocity | i
I ) a — acceleration : I/ Average velocity = Displacement From Start Point :
| s =vi——at t - time | : Total Time Taken :
I I I
: s = % (+v)1 : : 8 Acceleration due to gravity = 9.8m/s? :
I h | |
: To derive the SUVAT equations : : 9. Acceleration du¢ fo gravify does not depend on the i
I« Find the gradient of a velocity fime graph : I mass of The object I
| : |
I Iobgelled withu, v, 1 - : 110 The degree of accuracy in your answers must be :
: * Find the area underneath the velocify-fme : consisfent with the values given in the question le. if :
1 9raph _ : I g = 10m/s?%in the question, your answer should also
: » Use these Two equations fo replace each ke gven 1o | sig fig I
L variable af a time fo derive the other three 1 o 1
. /!
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Il ALWAVS DRAW A SKETCH! b
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: Inifial velocity Consfant accelerafion  Velocity after T seconds |
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: Initial position Position after !
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